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All Candidates' perfﬁrmance across questions
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section A

EDUQAS A LEVEL SOCIOLOGY - COMPONENT 3
POWER AND STRATIFICATION

SUMMER 2018 MARK SCHEME

Compulsory question

1. (a)

© WJEC CBAC Ltd.

Identify evidence of inequality in two areas of social life in the contemporary
UK. lllustrate your answer with reference to supporting evidence for each
area identified. [20]

Answers should identify two areas of social life. For both areas answers
should use appropriate evidence; official statistics and sociological research.
The evidence cited should clearly demonstrate the inequality in the question.
The AO2 marks will reflect selection of appropriate evidence.

For band 4 AO1 there should be more than one piece of evidence cited for
each area identified.

Indicative content

Education — for example:

— class inequalities linked to material and cultural deprivation

— labelling linked to Becker

— gender inequalities linked to girls’ aspirations and treatment of girls in
school —Lees, Sharpe

— streaming, setting and processes inside schools - Mirza, Fuller, Mac
an Ghaill

— educational achievement - Francis

— laddism and ladettes — Jackson

— masculinities linked to boys’ underachievement - Sewell

— differential experiences and inequalities - Skelton

— ethnicity and achievement - Gilborn and Mirza

Crime and deviance — for example:
— patterns of offending, official police statistics, British Crime Survey and
prison populations linked to gender, class, age and/or ethnicity
— labelling, stop and search, patterns of policing - Hall
— Taylor, Walton and Young, Phillips and Bowling
— Heidensohn, Adler, Smart, Croall
— Messerschmidt, Katz, Lyng, Winlow, Cicourel

Health — for example:
— patterns of inequalities in statistics, such as the ONS, with reference
to mortality and morbidity
— Health Survey for England
— cultural factors — Perron
— material factors — studies such as Arber and Thomas and Popay and
Bartley





Work — for example:
— patterns of inequalities in statistics, such as the ONS, with reference
to job levels and occupations
— gendered pay — statistics from Cranfield School of Management
— reserve army of labour — Beechey
— Women and Work Commission and the work of the EOC
— vertical and horizontal segregation, the glass and the concrete ceiling
— the dual labour market theory linked to the work of Barron and Norris

— immigrant workers linked to the work of Castles and Kosack

Any other relevant point.

Examples and evidence from other areas such as families and households,
youth culture and media may also be used

Band AO1 AO2
elements 1a & 1b element 1a
12-14 marks 6 marks
Answers demonstrate detailed Answers demonstrate accurate and
knowledge and understanding of | relevant selection of appropriate
4 sociological theories/concepts/ sociological theories/concepts/
evidence relating to the context evidence. These are applied and
of the debate/question interpreted in the context of the
debate/question
8-11 marks 4-5 marks
Answers demonstrate some Answers demonstrate some accurate
knowledge and understanding of | and relevant selection of appropriate
3 sociological theories/concepts/ sociological theories/concepts/
evidence relating to the context evidence, some of which are applied
of the debate/question and interpreted in the context of the
debate/question
4-7 marks 2-3 marks
Answers demonstrate basic Answers demonstrate a basic ability to
knowledge and understanding of | select, apply and interpret appropriate
2 sociological theories/concepts/ sociological theories/concepts/ evidence
evidence relating to the context in the context of the debate/question
of the debate/question
1-3 marks 1 mark
Answers demonstrate limited Answers demonstrate limited ability to
knowledge and understanding of | select and/or interpret and/ or apply
1 sociological theories/concepts/ sociological theories/concepts/ evidence
evidence relating to the context in the context of the debate/question
of the debate/question
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.






Either,

1. ()

© WJEC CBAC Ltd.

Evaluate feminist explanations of social inequality. [40]

Answers will make judgements of the sociological concept, theory or
sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological evidence/
theories and concepts. Where answers demonstrate all abilities to the
highest standard then they will be consistent with Band 4. Answers
demonstrating knowledge but fewer skills of assessment, judgement and
evaluation may achieve Band 4 for AO1 but lower bands for AO2 and AO3.

Indicative content

o Expect to see reference to a range of feminist explanations such as
liberal, Marxist, radical and difference feminists.
¢ Answers should focus on an evaluation of feminist explanations to an
understanding of social inequalities.
— patterns of crime in relation to gender — ONS, CSEW, victim surveys
— gendered nature of work — Cranfield School of Management, EOC,
Fawcett Society

Liberal feminism:

— inequalities in the implementation of the law such as equal pay

— campaigns for equal opportunities for example in education - WISE

— campaigns against sexism in for example the media

— the work of Walby might be cited

— also the work of Oakley in relation to gender roles in the family

— Liberal feminists tend to focus on changing laws which are predicated
on underlying patriarchal structures

— they do not explain the exploitation of women linked to the work of
Abbott

— they campaign for changes which do not address the oppression and
exploitation of women linked to the work of the Marxist feminists

Marxist feminism

— the social inequality of women is linked to capitalism

— the work of Benston might be cited in relation to the oppression of
women and the unpaid labour they perform in the family

— health inequalities linked to work of Doyal and Pennell

— the poverty of women in developing countries

— too much emphasis on capitalism linked to the work of Abbott

— fails to address issues of race and ethnicity linked to the work of black
feminists

— they neglect issues of violence against women linked to the work of
radical feminists





© WJEC CBAC Ltd.

Radical feminism

— radical feminists argue that society is patriarchal and women are
exploited and oppressed within it

— the work of Shulamith Firestone, Mary Daly and Andrea Dworkin might
all be referred to

— they have contributed to an understanding of domestic violence as
well as violence in the public sphere against women

— they tend to view men as the enemy

— they tend to ignore issues of race and ethnicity

Alternative explanations/theories of social inequalities may be considered
such as:

— functionalist explanations

— Marxist explanations

— Postmodernist explanations

— Weberian/neo-Weberian explanations

These alternative explanations/theories should not be as add-ons but
integrated into the evaluation. In addition they should not form the majority of
the answer.

e Any other relevant point.

Reference should be made to relevant and recent political, social or public
debate regarding issues related to crime and deviance.





Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
12-14 marks 12-14 marks 10-12 marks
Answers Answers demonstrate Answers demonstrate
demonstrate detailed | detailed, accurate and detailed, well organised and
knowledge and relevant selection of logical arguments. Logical
4 understanding of appropriate sociological judgements and conclusions
sociological theories/ | theories/concepts/ will be offered based on
concepts/evidence evidence. These are explicit evaluation of the
relating to the context | applied and interpreted in relevant theories/concepts/
of the the context of the debate/ evidence examined
debate/question question
8-11 marks 8-11 marks 7-9 marks
Answers Answers demonstrate some | Answers demonstrate some,
demonstrate some accurate and relevant well organised and logical
knowledge and selection of appropriate arguments. Judgements and
3 understanding of sociological theories/ conclusions offered will show
sociological theories/ | concepts/evidence, some of | some evaluation of the
concepts/evidence which are applied and relevant theories/concepts/
relating to the context | interpreted in the context of | evidence examined
of the the debate/question
debate/question
4-7 marks 4-7 marks 4-6 marks
Answers Answers demonstrate a Answers demonstrate basic
demonstrate basic basic ability to select, apply | arguments. Judgements and
knowledge and and interpret appropriate conclusions offered will show
> understanding of sociological theories/ basic evaluation of the
sociological theories/ | concepts/evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question
1-3 marks 1-3 marks 1-3 marks
Answers Answers demonstrate Answers demonstrate limited
demonstrate limited limited ability to select argument. Any judgements
knowledge and and/or interpret and/or and conclusions offered will
1 understanding of apply sociological theories/ | show limited evaluation of any
sociological theories/ | concepts/ evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question

© WJEC CBAC Ltd.






Or

1. (c) Assess the view that social class is the main cause of inequality in the
contemporary UK. [40]

Answers will make judgements of the sociological concept, theory or
sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological evidence/
theories and concepts. Where answers demonstrate all abilities to the
highest standard then they will be consistent with Band 4. Answers
demonstrating knowledge but fewer skills of assessment, judgement and
evaluation may achieve Band 4 for AO1 but lower bands for AO2 and AO3.

Indicative content

o Expect to see a detailed exposition of the view that social class is the
main cause of inequality in the contemporary UK.

o Expect to see evaluation of social class as a main cause of inequality
including:

o Explanations of gender and inequality.
Explanations of ethnicity and inequality.

These should not be as add-ons but integrated into the assessment.

— economic inequality linked to class

— income inequalities — ONS. Inequality in wealth linked to the work of
Cowell

— wealth and wealth distribution linked to the work of Rowlingson and
Mullineux

— health inequalities and class — Marmot Review

— Marxist explanations such as cultural capital, Bourdieu, Reay

— Weberian explanations such as those related to status and power as
well as economic classes, linked to unequal life chances for example
the work of Hills and the National Equality Panel

— educational inequalities linked to class and to the work of Smith and
Noble

— functionalist explanations linked to the work of Davis and Moore

— gender and inequality — women in the labour market — gender pay
gap, horizontal and vertical segregation

— women and poverty linked to the work of the JRF

— variations in mobility linked to the work of Li and Devine

— gender and educational inequality, linked to masculinities as well as
class and ethnicity

— ethnic inequalities in relation to life chances such as work, pay, health
and education

o Any other relevant point.

Reference may be made to relevant and recent political, social or public
debates.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
12-14 marks 12-14 marks 10-12 marks
Answers Answers demonstrate Answers demonstrate
demonstrate detailed | detailed, accurate and detailed, well organised and
knowledge and relevant selection of logical arguments. Logical
4 understanding of appropriate sociological judgements and conclusions
sociological theories/ | theories/concepts/ will be offered based on
concepts/evidence evidence. These are explicit evaluation of the
relating to the context | applied and interpreted in relevant theories/concepts/
of the the context of the debate/ evidence examined
debate/question question
8-11 marks 8-11 marks 7-9 marks
Answers Answers demonstrate some | Answers demonstrate some,
demonstrate some accurate and relevant well organised and logical
knowledge and selection of appropriate arguments. Judgements and
3 understanding of sociological theories/ conclusions offered will show
sociological theories/ | concepts/evidence, some of | some evaluation of the
concepts/evidence which are applied and relevant theories/concepts/
relating to the context | interpreted in the context of | evidence examined
of the the debate/question
debate/question
4-7 marks 4-7 marks 4-6 marks
Answers Answers demonstrate a Answers demonstrate basic
demonstrate basic basic ability to select, apply | arguments. Judgements and
knowledge and and interpret appropriate conclusions offered will show
> understanding of sociological theories/ basic evaluation of the
sociological theories/ | concepts/evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question
1-3 marks 1-3 marks 1-3 marks
Answers Answers demonstrate Answers demonstrate limited
demonstrate limited limited ability to select argument. Any judgements
knowledge and and/or interpret and/or and conclusions offered will
1 understanding of apply sociological theories/ | show limited evaluation of any
sociological theories/ | concepts/ evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question
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Sticky Note

Candidates are required to identify social inequalities in 2 areas of social life and provide sociological evidence for the inequalities. A significant number of candidates could not/did not identify 2 areas of social life and subsequently were unable to access many marks.
other candidates did not provide sociological evidence and were thus also unable to access the higher mark bands. 



Sticky Note

First area identified.



Sticky Note

Two inequalities identified and supported by sociological evidence. The second is in need of development.



Sticky Note

Further development of the first inequality identified. In terms of the structure of the answer this might have been better placed with the point about domestic violence at the start of the previous paragraph.   
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Sticky Note

Second area identified.



Sticky Note

Some imprecision on the research carried out by Becker. There are a number of contemporary sociologists writing about the labeling of BME students. 



Sticky Note

Inaccurate statistic. If citing statistics accuracy is important and also the source. 
Statistics about attainment by gender and different ethnic groups as cited by many candidates do not give evidence of inequality but rather of difference. They need to be linked to research on inequality to be useful.
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to the first line of your answer
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Sticky Note

Although the candidate has cited two areas of social inequality only the one on the family has evidence and therefore the candidate is placed in mark band 3 for AO1. The evidence is accurate and interpreted in relation to the area therefore AO2 is also mark band 3. 



Sticky Note

AO1 - 12
AO2 - 3



Sticky Note

Is social class inequality caused solely by educational attainment as is suggested here? It is important to avoid making sweeping claims that are unsubstantiated.



Sticky Note

The source of statistics should always be identified/cited.
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Sticky Note

This evaluative point needs to be linked more clearly to the question and to social class as the main cause of inequality in the contemporary UK. The sentence tacked on at the end is not very convincing.



Sticky Note

A vague statistic without a source. 
See previous comments on this and other statistics which are not sourced. 



Sticky Note

Again statistics which have not been attributed to a specific source.



Sticky Note

The answer is now drifting away from the specifics of the question and losing focus.





Write the two digit question
number inside the boxes next Answer

to the first line

of your answer

MO COUAR @&;i@aw\\‘m QW 0 cm—m\m'«\ﬁ_

=]

HONGRONAL NS € ok BWerids O rgae. o
IS o Cla 8y ’&%\f)ﬂt (ECaation tpcoe

TF Con R Orqued thax Socal class \‘\QQM%
0 =
O Mo Coludt et g liky oude 0 diad

MQQ_M;U Argd hormd W, Cuy HADse W

LV hare TR 0 _Hag toP - So altcugn

ENOUC e W G (ead g (BUASR (i 1) & 30
O M AW HeC T BOERSS Thae ainEuR

Can_op Cne CQ\Q&C} B s SN AN uléw) &
T MIN ST - TNuj %\@m@ YAoK Logen Gve

@

—

U AL RAGL TAR GendLel O o

BADIRY 48 \wﬁmo\\\ﬂ, falkavi*y KAU\/L __

RO COAge ‘éﬁ_nwu\ww% Miler Crguey

Fratr the fonits ore tlno OO+ (o€ ac

N OF  WDOMEn 06 MO NOUUEW Ot

HEPES EVen o d UG KON ougmy e |

U0 ap W Luoaren 9o fe \POY\)M and |
\MM 08 0PLOSSEI D D% of ven. .

T FUTNY ook (de, e Ygea of a

Dual  ourden!' (0 Hhaat  WeMa@n A UgE
00 all A Mo sewone And  poud oo

T TS Wads +0 Men nt haunug 1o
0D NOUNRW ONL WA 9 Uty \A%&LL%%@L

QOM@«\ N WG Ay .

m@\pmb‘ oNo Ledvard cug;ﬁglﬁ‘

iEE‘Cmr\ \ae Lu\r\m\@@o} ttﬂow Squ\\ class

O g e LAOVILULG Cu&s U AQ

Ml&ﬁ\é Qk&i‘) ?}emww\ NSNS R CEN TN

ad V\Nﬂ’mcﬁd OUAG L AGINTURe ¢

SPCL A ( m IAWMATA PO WN Y

(4 e Mot cause Ot \\w&u@(d—u Que [

\wxukudlru&m 0L PN\EY \JC(“,(MDQM tcjjfuko B

i T

Leave
blank



Sticky Note

Evaluation that is juxtaposed.



Sticky Note

This is a useful point but the material on Labov needs a more secure link to the question.
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Sticky Note

There is some knowledge and understanding (AO1) which has been explained in a basic way (AO2) and there is some evaluation (3).
Candidates might like to compare this answer to answer E on feminism which was awarded full marks.



Sticky Note

AO1 - 8
AO2 - 7
AO3  - 7
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Sticky Note

This claim needs to be supported with sociological evidence.



Sticky Note

This a generalisation which is not supported by sociological evidence.
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Sticky Note

There are a number of inequalities identified in this paragraph but no sociological evidence to back up the claims. The importance of sociological evidence is emphasised in the second sentence of the question and candidates must be advised to therefore supply it if they wish to access the top mark bands.



Sticky Note

The lack of evidence in the second area means it it cannot be placed higher than the bottom of mark band 3 for AO1 or AO2.




Sticky Note

AO1 - 8
AO2 - 4
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Sticky Note

A useful introduction although Marxist feminists do take class into account.
It is important to provide a clear introduction and conclusion to these 40 mark answers but candidates need to be sure that the claims they make are accurate if they are to give an examiner a good impression from the outset.




Sticky Note

An accurate concept which has been explained. Candidates are expected to use the language of sociology in order to access the higher mark bands particularly for AO1 - see mark scheme.  



Sticky Note

The source of a statistics should always be identified.



Sticky Note

A rather brief reference to Heidensohn.



Sticky Note

There is a certain lack of clarity here. 
Candidates could be asked to rewrite this whole section in oder to make the point. 
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Sticky Note

It is sometimes helpful to provide an example.



Sticky Note

There is a slight lack of focus here.



Sticky Note

There is also some lack of focus/clarity here in relation to the specifics of the question.
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Sticky Note

This is rather vague. Candidates should be reminded to cite the source of statistics.



Sticky Note

The use of the term official statistics is still rather vague. 



Sticky Note

There is a hint of inequality here but a lack of evidence.



Sticky Note

These are more differences than inequalities.
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Sticky Note

A useful conclusion to this area of social life.



Sticky Note

These are differences. They need to be linked to inequalities.
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Sticky Note

There are no marks for evaluation on this question.

Candidates should be encouraged to read the wording of questions in order to answer accordingly. Candidates should also be encouraged to read question papers and mark schemes of past papers in order to be clear about the demands of each question. 



Sticky Note

AO1 - 7
AO2 - 3



Sticky Note

This answer could be used as a class exercise either before or after reading Script E and the mark scheme.

Candidates might consider -
Has the language of sociology been used? Have the concepts used been explained?
Is there evidence to support the claims being made?
Are there any inaccuracies?
Have any statistics been used without their source being identified?
Is the answer focused throughout?
To what extent have the different feminist explanations been used? 
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Write the two digit question
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to the first line of your answer
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Sticky Note

The compulsory questions of each option give candidates a chance to show of their knowledge and understanding of an area of the option and to demonstrate their ability to select and interpret relevant evidence to support their knowledge. Evaluation is not required there are no AO3 marks available.



Sticky Note

This is a relevant view but it is in need of development and evidence.
Compare script A where the candidate has identified views, developed them and provided evidence to support them.



Sticky Note

This is just a definition of a delinquent and is not therefore focused on the specifics of the question.



Sticky Note

This is a development of the definition of delinquency and is now veering even further from the specifics of the question which asks the candidates to consider the view that delinquent subcultures are usually working class, not the question of gender.



Sticky Note

AO1 - 6
AO2 - 6
AO3 - 5










Answer Section A and one option from Section B.
Section A

Compulsory question

1. (a) Identify evidence of inequality in two areas of social life in the contemporary UK. lllustrate
your answer with reference to supporting evidence for each area identified. [20]

Either,
(b) Evaluate feminist explanations of social inequality. [40]
Or,

(c) Assess the view that social class is the main cause of inequality in the contemporary
UK. [40]
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Section B
Answer one of the following options.
Option 1 Crime and Deviance
Compulsory question

2. (a) Delinquent subcultures are usually working class. Explain sociological
evidence that supports this view. [20]

This question requires an explanation of a sociological view. The view should
be identified and there should be detailed accurate points of knowledge for
AO1 band 4. There should be a good coverage of sociological language and
reference should be made to at least two writers/evidence. For AO2 band 4
the points made should be explained in the context of the question.

Indicative content

o Reference to those who favour this view including functionalist subcultural
theorists such as Cohen and Cloward and Ohlin.

Status frustration linked to work of Cohen.

lllegitimate opportunity structure linked to work of Cloward and Ohlin.
Focal concerns linked to the work of Miller.

Marxist and neo-Marxist subcultural theorists including the work of Cohen
on the skinheads and Hall on black youth.

Left realist explanations of Taylor, Walton and Young.

Any other relevant point.

© WJEC CBAC Ltd. 8





Band | AO1 AO2
elements 1a & 1b element 1a
10-12 marks 7-8 marks
Answers demonstrate detailed Answers demonstrate a detailed ability
knowledge and understanding of | to select, apply and interpret
4 sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context concepts/evidence in the context of the
of the debate/question debate/question
7-9 marks 5-6 marks
Answers demonstrate some Answers demonstrate some ability to
3 knowledge and understanding of | select, apply and interpret appropriate
sociological theories/concepts/ sociological theories/concepts/ evidence
evidence relating to the context in the context of the debate/ question
of the debate/question
4-6 marks 3-4 marks
Answers demonstrate basic Answers demonstrate a basic ability to
2 knowledge and understanding of | select, apply and interpret appropriate
sociological theories/concepts/ sociological theories/concepts/ evidence
evidence relating to the context | in the context of the debate/ question
of the debate/question
1-3 marks 1-2 marks
Answers demonstrate limited Answers demonstrate limited ability to
knowledge and understanding of | select and/or interpret and/ or apply
1 sociological theories/concepts/ sociological theories/concepts/ evidence
evidence relating to the context in the context of the debate/ question.
of the debate/question
0 marks 0 marks
NRSP NRSP
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Either,

2.

© WJEC CBAC Ltd.

(b)

Evaluate Marxist explanations of crime and deviance. [40]

Answers will make judgements of the sociological concept, theory or
sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological
evidence/theories and concepts. Where answers demonstrate all abilities to
the highest standard then they will be consistent with Band 4. Answers
demonstrating knowledge but fewer skills of assessment, judgement and
evaluation may achieve Band 4 for AO1 but lower bands for AO2 and AO3.

Indicative content

e Answers should demonstrate an understanding of Marxist and neo-
Marxist explanations of crime and deviance.

e There may be reference to theories such as functionalism, feminism and
postmodernism but these should not be as add-ons but integrated into the
evaluation. In addition they should not form the majority of the answer.

Expect to see some of the following:

— ideological state apparatus linked to the work of Althusser

— repressive state apparatus also linked to the work of Althusser

— law enforcement linked to the work of Chambliss

— capitalism and criminality linked for example to the work of Bonger
and also to Gordon

— social control and the work of Box

— white collar and corporate crime linked to the work of Snider and
Croall

— Marxist subcultural explanations including the work of Cohen and of
Willis

— reference may be made to the work of Hebdige, Hall and other
members of the CCCS

— Neo-Marxist explanations from sociologists such as Taylor, Walton and
Young

Evaluation may come from:

— right realists such as Wilson, Murray and from Wilson and Kelling

— feminists such as Heidensohn

— functionalists such as Parsons and the sex-role theory

— evaluation of Marxist subcultural theories from Cohen and Cloward
and Ohlin

— the new right and the notion of the inadequate socialisation of the
underclass linked to the work of Murray

e Any other relevant point.

Reference should be made to relevant and recent political, social or public
debate regarding issues related to crime and deviance
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
12-14 marks 12-14 marks 10-12 marks
Answers Answers demonstrate Answers demonstrate
demonstrate detailed | detailed, accurate and detailed, well organised and
knowledge and relevant selection of logical arguments. Logical
4 understanding of appropriate sociological judgements and conclusions
sociological theories/ | theories/concepts/ will be offered based on
concepts/evidence evidence. These are explicit evaluation of the
relating to the context | applied and interpreted in relevant theories/concepts/
of the the context of the debate/ evidence examined
debate/question question
8-11 marks 8-11 marks 7-9 marks
Answers Answers demonstrate some | Answers demonstrate some,
demonstrate some accurate and relevant well organised and logical
knowledge and selection of appropriate arguments. Judgements and
3 understanding of sociological theories/ conclusions offered will show
sociological theories/ | concepts/evidence, some of | some evaluation of the
concepts/evidence which are applied and relevant theories/concepts/
relating to the context | interpreted in the context of | evidence examined
of the the debate/question
debate/question
4-7 marks 4-7 marks 4-6 marks
Answers Answers demonstrate a Answers demonstrate basic
demonstrate basic basic ability to select, apply | arguments. Judgements and
knowledge and and interpret appropriate conclusions offered will show
> understanding of sociological theories/ basic evaluation of the
sociological theories/ | concepts/evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question
1-3 marks 1-3 marks 1-3 marks
Answers Answers demonstrate Answers demonstrate limited
demonstrate limited limited ability to select argument. Any judgements
knowledge and and/or interpret and/or and conclusions offered will
1 understanding of apply sociological theories/ | show limited evaluation of any
sociological theories/ | concepts/ evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question
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Or
2. (c) Assess labelling theory as an explanation of crime and deviance. [40]

Answers will make judgements of the sociological concept, theory or
sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological
evidence/theories and concepts. Where answers demonstrate all abilities to
the highest standard then they will be consistent with Band 4. Answers
demonstrating knowledge but fewer skills of assessment, judgement and
evaluation may achieve Band 4 for AO1 but lower bands for AO2 and AO3.

Indicative content

¢ Answers should demonstrate an understanding of labelling theory as an
explanation of crime and deviance.

e There may be reference to theories such as Marxism and neo-Marxism,
functionalism, feminism and postmodernism but these should not be as
add-ons but integrated into the essay as part of the assessment. In
addition they should not form the majority of the answer.

— Becker and labelling theory

— the self-fulfilling prophecy

— the notion of a master status

— selective law-enforcement

— deviant careers linked to the work of Coombs and of Box

— the research of Young on the hippies

— Goffman and unintentional deviance

— Lemert and primary and secondary deviance

— research of Cicourel — juvenile delinquency in the US

— expect to see the strengths and weaknesses of labelling theory
which should be integrated with the knowledge and understanding
of the theory

— criticisms from Marxists - it doesn’t address/explain structures of
power in society

— criticisms from New Left Realists such as Lea and Young

— Marxists and New Left realists argue it doesn’t explain why some
people are more likely to be labelled than others

— fails to explain the original act before it is labelled

— Liazos argues labelling theory tends to focus on specific crimes
and deviant behaviour and ignore for example the crimes of the
powerful

— criticisms from Hirschi and the relationship to age

— it doesn’t consider the causes of deviance but does recognise that
breaking the law is a complex social process

e Any other relevant point.

Reference should be made to relevant and recent political, social or public
debate regarding issues related to crime and deviance.

© WJEC CBAC Ltd. 1 2





Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
12-14 marks 12-14 marks 10-12 marks
Answers Answers demonstrate Answers demonstrate
demonstrate detailed | detailed, accurate and detailed, well organised and
knowledge and relevant selection of logical arguments. Logical
4 understanding of appropriate sociological judgements and conclusions
sociological theories/ | theories/concepts/ will be offered based on
concepts/evidence evidence. These are explicit evaluation of the
relating to the context | applied and interpreted in relevant theories/concepts/
of the the context of the debate/ evidence examined
debate/question question
8-11 marks 8-11 marks 7-9 marks
Answers Answers demonstrate some | Answers demonstrate some,
demonstrate some accurate and relevant well organised and logical
knowledge and selection of appropriate arguments. Judgements and
3 understanding of sociological theories/ conclusions offered will show
sociological theories/ | concepts/evidence, some of | some evaluation of the
concepts/evidence which are applied and relevant theories/concepts/
relating to the context | interpreted in the context of | evidence examined
of the the debate/question
debate/question
4-7 marks 4-7 marks 4-6 marks
Answers Answers demonstrate a Answers demonstrate basic
demonstrate basic basic ability to select, apply | arguments. Judgements and
knowledge and and interpret appropriate conclusions offered will show
> understanding of sociological theories/ basic evaluation of the
sociological theories/ | concepts/evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question
1-3 marks 1-3 marks 1-3 marks
Answers Answers demonstrate Answers demonstrate limited
demonstrate limited limited ability to select argument. Any judgements
knowledge and and/or interpret and/or and conclusions offered will
1 understanding of apply sociological theories/ | show limited evaluation of any
sociological theories/ | concepts/ evidence in the theories/concepts/evidence
concepts/evidence context of the debate/ examined
relating to the context | question
of the
debate/question
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Sticky Note

Relevant sociologists selected and linked to a reason which has been developed.



Sticky Note

A statistic which is not pertinent to the answer.
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Sticky Note

A second sociologist linked to a reason although the evaluative point regarding the middle class is not needed.



Sticky Note

Is it? This is a sweeping generalisation which adds nothing to the point being made.



Sticky Note

Relevant sociologist linked to a reason.



Sticky Note

A development of the previous reason using Lea and Young to support the point.
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Sticky Note

AO1 -12
AO2 - 8



Sticky Note

Clear summary/conclusion. The candidate has summed up succinctly the three reasons they have identified and discussed.



Sticky Note

Ask candidates to rewrite this introduction to provide a clearer start to the answer.



Sticky Note

The ideas of Becker have been applied to the specifics of the question. It was too easy for some candidates to consider labeling in general.
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Sticky Note

Bonger's ideas were useful evaluation although the end of the paragraph at the top of this page are rather vague. It might be possible to guess what the candidate is trying to say but it would have been better if they had  developed the point.



Sticky Note

Some detail of Becker's ideas.



Sticky Note

This paragraph about right realism is juxtaposed rather than fully integrated.
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Sticky Note

This is not what Wilson and the right realists said. Key sociologists in the area of crime and deviance should be learnt and revised more carefully.



Viv

Sticky Note

Whilst Murray did comment on single parents this statistic needs a source to verify the veracity of it or not.
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Viv

Sticky Note

It is important to use language carefully in order not to make a generalisation such as this.



Viv

Sticky Note

Another inaccuracy regarding the media.



Viv

Sticky Note

AO1 - 9
AO2 - 8
AO3 - 7



Viv

Sticky Note

In order to be placed at the top of mark band 3 or in mark band 4 the candidate needs to refer to more relevant sociologists in detail. 
Generalised claims, inaccurate at times, should be avoided. 
There is some evaluation but it is not always accurate and some of it is juxtaposed. Evaluation should be such that the answer has a more evaluative tone than this answer. 
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Sticky Note

A significant number of candidates referred to Merton who did not discuss subcultures although his work was used  by some of those who did.



Sticky Note

After reading scripts C and A this could be used as a class exercise.

Apart from Merton there are a couple of inaccuracies in this answer however there are three accurate reasons identified and some relevant pieces of evidence to support them.

Ask candidates to go through the answer and identify the reasons and the accurate evidence and then develop the reason that has not been fully explained.



Sticky Note

AO1 - 10
AO2 - 6
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Sticky Note

The introduction identifies one or two elements of Marxist explanations of crime and deviance and and evaluative point together with reference which theories might be used to evaluate Marxist explanations.
This gives a good impression to the examiner. 



Sticky Note

Reference to a relevant sociologist and some detail about what her arguments
are.
  



Sticky Note

Reference to a second sociologist with some detail. Candidates might like to compare this answer to that of candidate D.
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Sticky Note

This does not necessarily follow from the previous point. 



Sticky Note

A little unclear. This point needs to be developed.



Sticky Note

There is some lack of clarity here. The candidate appears to be confused.  
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Sticky Note

There is some relevant material here but no evidence to support it.



Sticky Note

Again this is a sweeping generalisation which needs to be supported with evidence in order to give it credence.



Sticky Note

Candidates might like to try to rewrite this paragraph as a classroom exercise.





Write the two digit question
number inside the boxes next Answer
to the first line of your answer

L Collligien, Movxict  CxllonatislS Y
Core o 3radyell) — becoriddy  NEFACENL 1]

g )(p/e’/\/‘”i%i) L%@ [afe  mzdern  fensds

of (M

1 od  deviare . FerifSt  occouits

e

A Jarge)y  Crfective in - [Ycodnsing e

Sociel  PalBtf of ol featurd

f@;/‘t’jmw
(_f/‘/"\i\ﬂa/

_ m[ﬂ\/;‘/ﬁ‘;) SN olPoLed [> Inrea s Cxlen'énce
_ffié_/'f;,__/\'la/)(fﬂf o ead b 3/91//4%4,4}5

Filorlbits g or o PhAAVCt  of

W k12

Clos s LPloatdAs Wil 1S N lPrLr )

1 Pracked. Thefthre, Mokt £ CXplanatanS

of crire  ond  deylonce  ary aulbdaleS

ond by absolele .

12

8712

Leave
blank



Sticky Note

The answer needs more on Marxist explanations and more evidence to go from the top of mark band 3 into mark band 4 for AO1. In addition there needs to be more accurate and focused interpretation and analysis to go into mark band 4 for AO2. 



Sticky Note

AO1 - 11
AO2 - 10
AO3 - 9
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Sticky Note

The compulsory questions of each option give candidates a chance to show of their knowledge and understanding of an area of the option and to demonstrate their ability to select and interpret relevant evidence to support their knowledge. Evaluation is not required there are no AO3 marks available.



Sticky Note

This is a relevant view but it is in need of development and evidence.
Compare script A where the candidate has identified views, developed them and provided evidence to support them.



Sticky Note

This is just a definition of a delinquent and is not therefore focused on the specifics of the question.



Sticky Note

This is a development of the definition of delinquency and is now veering even further from the specifics of the question which asks the candidates to consider the view that delinquent subcultures are usually working class, not the question of gender.



Sticky Note

AO1 - 6
AO2 - 6
AO3 - 5
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Sticky Note

The candidate is now more focused. and provides relevant evidence to support the view in the question.



Sticky Note

There is a tangential link to the question in this paragraph and no evidence. Candidates must focus on the view in the question.




Sticky Note

This is a development of the second paragraph though still no evidence.
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Sticky Note

There are three reasons in the answer although the second is in need of a clearer link to the view identified in the question. There is one piece of evidence which means it can be placed in mark band 3 for AO1.  



Sticky Note

AO1 - 8
AO2 - 6



Sticky Note

Candidates should be advised to take some time to read questions. 
The question has asked candidates to evaluate Marxist explanations of crime and deviance. 
Candidates should start with a clear and detailed exposition of Marxist explanations or alternatively take the approach used by Script E on feminist explanations. 
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Sticky Note

There has still not been a detailed consideration of Marxist explanations just the occasional reference in passing.
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Sticky Note

The candidate has not elaborated on the various Marxist explanations of crime and deviance and therefore it is difficult to make the claim that the Marxist explanations are good.



Sticky Note

There is evidence to support and refute Marxist explanations and some at least need to be explored in the answer to this question.  
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Sticky Note

AO1 - 3
AO2 - 4
AO3 - 4



Sticky Note

Limited knowledge and understanding of Marxist explanations of crime and deviance, basic evaluative points.










Section B

Answer one of the following options.

Option 1 Crime and Deviance

Compulsory question

2. (a) Delinquent subcultures are usually working class. Explain sociological evidence that

supports this view. [20]
Either,
(b) Evaluate Marxist explanations of crime and deviance. [40]
Or,
(c) Assess labelling theory as an explanation of crime and deviance. [40]
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Sticky Note

The following answer to 1b was awarded full marks.

Candidates could be asked to read it through together with the mark scheme hi-lighting where marks could be awarded for the three assessment objectives and to explain why. Look for relevant sociologists and explanations of what they said linked to the question. Also look for evaluative words and phrases. Evaluative points should appear in each paragraph. 

In order to be awarded full marks an answer does not have to be perfect rather the best answer that a candidate could write in the time available.

In the answer to this specific question there should be reference to at least three feminist explanations.
Evaluation should permeate the answer although, as in this case, there may still be some juxtaposition. 
Finally the answer should be clearly structured with a focused introduction and conclusion.     
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